HAMPTON DRESS TABLE MIRROR

NEXC 179090

Assembly instructions

Actual product size
H62.8 x W113 x D10cm

Need Help?

With: Assembly instructions
Missing or damaged parts

IMPORTANT — RETAIN FOR FUTURE REFERENCE CALL: 0333 777 8999

Produced in Vietnam for Next Retail Ltd.

179090-2017-V1



HAMPTON DRESS TABLE MIRROR

NEXC 179090

Assembly instructions

Warnings

We suggest you retain these instructions for future reference

We strongly recommend that a professional who has experience
of fitting such items should install large mirrors.

Mirror are heavy objects and your safety is dependant on the
construction/strength of the wall to which it is attached.

We would recommend that the following methods be used to hang
the mirror. N.B.-SCREW & RAW PLUGS FOR THE WALL ARE
NOT INCLUDED.

Avoid exposing the furniture to excessive heat or direct sunlight
as this can cause cracking of the wood frame and deterioration
of the colour

Unwrap all packaging materials and place the mirror on top of the
carton box or on a clean floor to protect it from damage

At least two pepple are recommend to install the mirror.

Do’s

We suggest you spend a short time reading through this leaflet
before you start

When you are ready to start, make sure that you have the right
tools and plenty of space

Unwrap all packaging materials and place the mirror on a clean
surface to protect it from damage,

We recommend that the packaging is used to protect the surfaces
during install

To clean wood frame, please use a soft cloth slightly dampened
To with water and wipe clean. Then buff with a dry clean cloth
When cleaning mirror panels use a damp cloth with washing up
liquid or soft soap if necessary. Do not use washing powders

or any other substances containing abrasives since these

substances can scratch the glass . Avoid washing up liquid contact
with wood frame.

Don’ts

Apply Adhesive substrates for example, sticky tape to the product
Do not use silicone based furniture polish. Silicone in furniture
polishes can break down the lacquer finish of the wood frame

Never allow any kind of liquid to remain on your mirror.
Absorption can cause finishes to de-laminate and or stain

If the mirror panel is chipped or broken, stop using the product
and consult Next

BEFORE YOU START

Number of people required to assemble

Two people is required to assemble this item.

Time to assemble

Next

TO NO TIME

15 mins

Tools required
N @

not supplied

Missing parts

If you are missing any fixtures and fittings for your product please contact our
customer service team on 0333 777 8999 and they will be happy to arrange for
a replacement to be sent to you free of charge.

Home service technicians

If you have a fault with your product please contact our customer service team
on 0333 777 8999. If you have had the product for 28 days or less you may be
offered a replacement, refund or for a fully trained home service technician to
visit your home to assess the fault and repair the product where possible. If you
have had the product for more than 28 days we will send an independant home
service technician to review and repair the product where possible and
recommend further action.

You can write to us at

Home Customer Services
Next Retail Ltd,

Desford Road,

Leicester,

LE19 4AT

To View our full furniture range please visit www.next.co.uk

Produced in Vietnam for Next Retail Ltd.

179090-2017-V1




HAMPTON DRESS TABLE MIRROR

NEXC 179090

Assembly instructions

GETTING TO KNOW YOUR PRODUCT

Components supplied. Please use this guide if you require replacement parts. .

Ref | Dimensions Visual Qty [ Ctn Ref | Dimensions Visual Qty [ Ctn
1 | 109 x 59.8cm 1 1
2 113 x 10cm 1 1

Produced in Vietnam for Next Retail Ltd.
179090-2017-V1



HAMPTON DRESS TABLE MIRROR

NEX[C 179090

Assembly instructions

Fixtures and fittings
supplied (actual size)

Ref | Dimensions Qty ;iﬁi)r(]t;
A| M4Ax15mm | 8 | 1
B| M4x40mm | 2 | 1

Fixtures and fittings supplied (not to scale)

Ref | Dimensions Visual Qty
C | 40x90 2
D |25 x 150 | =— | >
E| ©10 2
F | M4x20 | -msmd 2

mm

10
‘HHHH\‘H\HHH
I

20 30 40 50 60 70 80 90 100
‘HH\\\H‘\\H\\\H‘HH\HH‘\\\H\\\\‘\\\H\H\‘\H\HH\‘HHHH\‘HHHH

Produced in Vietnam for Next Retail Ltd.

179090-2017-V1

* Extra Fittings included
in case of loss or damage

3



HAMPTON DRESS TABLE MIRROR

NEXC 179090

Assembly instructions

|©

PH2

not supplied

M4 x 15

<

40 x 90

PH2

not supplied

M4 x 40

<ttt

Bx2

Produced in Vietnam for Next Retail Ltd.

179090-2017-V1




HAMPTON DRESS TABLE MIRROR

NEXC 179090

Assembly instructions

PH2

not supplied

M4 x 15

Ax4

Produced in Vietnam for Next Retail Ltd.

179090-2017-V1



HAMPTON DRESS TABLE MIRROR

NEXC 179090

Assembly instructions

Fix your cabinet to the wall for extra stability using the wall strap and
fixing provided.

Please note this fixing is optional but is provided for your safety and
stability of the product.

Attach the anti-tilt straps to the reverse of the top panel using the
screws and washers shown.

|| To the wall
\

—_— To the wall

q

As wall materials

/
\Q
o
g
[c
g
q 7] ]
vary,screws for fixing
q|r g / to wall are not
o included.

For advice on suitable
screw systems,
1o contact your local

/G specialized dealer.

PH2

|©

not supplied

25x 150 210 M4 x 20
— ®) <t

Dx2 Ex2 Fx2

Produced in Vietnam for Next Retail Ltd.

179090-2017-V1



HAMPTON DRESS TABLE MIRROR

NEXC 179090

Actual product size
H62.8 x W113 x D10cm

Need Help?

With: Assembly instructions
Missing or damaged parts

IMPORTANT — RETAIN FOR FUTURE REFERENCE CALL: 0333 777 8999

Produced in Vietnam for Next Retail Ltd.

179090-2017-V1



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

